s #

Y- 12023011033 -34 B/¥5/11 8 /9 / 9
FERRE THJ 5000kg / 1 — JXVF BN R 2650 X 3350 X 2500
LIRS BT SEAT LS TS b B A R 1828 HITHF AR T YOS 2 2400 X 2400
A |5 | AR E4 i 5 /M5 Z K K/ s % IE
K. L=2888 R, W
1| % A JEbRBTE o _ 1| & | BilrossfilaN, &
MEE: LR, AR R ARHE RS EEFWTR\ E%Tﬁ
e E SR EIERE 392X 130 2 | M 5 R
A 5 R El2aGIS K. 1=2846 2 | & | . SRS
IAY 5 #R ek bt 260 130 8 | M| Hxbpssmb
AY RIS AN Aebr KB 1L=390 4 | Q235 4Bk IR
AS Hilife L& et A KBE. L=340 2 | 0
IAY T JEbRb E K. L=510 2 | 0
IAY R SLAE A EIRaIS KR L=3760 2 | % 208 KA
AS AR A AEbr A KB 1=3246 4 | % 14884
IAe P Er A K. 1=3060 2 | % 1484
IAY B bR B AR 2714 X 3350 1| & | 120, W BAESRR
AS HlfAR AEbr b A 240X 378 2 | R
PAS N A E[#N 4] K. 1=2888 1 £ | conii, SRR
IAY 52 N R bRk E K. L=2846 2 | B | R, SRSHIR
%o TR Hbibi BAFE 11100 | o |PEAT
7 DAY M JEbRbE K. L=710 2 | 4235, t4
1 e R IR EEl KJE: 1=2150 4 | % |M20%ikF, M3AIBEE/%
e FIHAT AEbR M P K. 1=1650 4 | %% [M2ORHT, ME3AEREE/K
2 | A UR A bR B 18%, =% : 180 4 | A 5ERERE)
6 | A BRI bRk E 400-10-10-15%%2k% 2 | A
11| % T AT R FrUELE lit ®20 $iff 8 | A FCM18X90 42 45
16 | A hik R i 4 | A s EVE i
BRI A e S e BepbbrifE 130X 50 X 50 4 | A Tephid
19 | % 5 HIEH L=3000 1| %
20 | % P DB10-4 KB L=270 2 |
21 | % T B % DB10-9. 1 220%65 S Ee2yik:N
22 | % T HIT IR 2 s 20 DB10-9. 2 265%80 + 70%80 1| & SN
24 | ¢ bk LF FrifE Bl L=400 2 | & BEHC U
2% | A i BLT127/B, ‘@3 FLEET5X75 H104 5286 5 it 4 | A
2 | A BRI BiT75/B, wHEALIET5X75 H102 86 5 it 8 | A
25| A TR 7 RER s 8 | A | IR B
. QU100MTH X % 4ot Gotd, S| SCVPRIUAE = 10000KG LTRSS
26 A wAH ! BeFLT5X75) , AP U 1m/s , BUifi: 16 mm 1 ® 1E24
21| A AR R Aok aaih, BT 2645 ES RFoAE FR
28 | * FRUKSTF 348 1| BEME R
RERRL 1. 5mm4A R i3 (E4£90114)
29 | % HIEERR L=157, H=2500 1| #
30 [ & Jii FPRERR L=0, H=2500 0 | #
& [ 31| ¥ MHT 5 EENR 1.=335, H=2500 4 |
BE | 32 | ¥ I Hh B AR L=500, H=2500 10 | M [Hd 2 sEil
33 | ¥ THTEEAR =157, H=2400 2 |
34 | ¥ T EEAR L=157, H=2400 1|
35 | ¥ Hm 8 1=2714, H=100 2 | # 43 U B 2400
26 A A TP AR L63 X 63X 6 1=250 87 | fLIR13
A T SRS L63X63X6 L=200 87 | 1 L2113
37| A F GRS L75X 75X 7 L=300 29 | fLI218
A F PSR L75X 75X 7 L=350 29 | 1k Li218
38 Rl S80S SR L75X 75X 7 L=450 58 | 1F LI218
A EE P& s L75X75X7 L=2020 58 | fF [ X#R&E, FLIE18
e | 39 A NEL s L75X 75X 7 L=1942 29 | LIZ18
# A G| L63X63X6 L=2020 87 | 1 L2113
40 | A A TP L75X 75X 7 L= 0 | % L2113
41 | A RHEFERS L50 X 50X 5 L=100 290 | 1F LAE13
42 | A FHE L50 X 50 X 5 L=500 290 | 1 LiE13
5K/ % He: 18 4% N
y A R E S T127/B Héf%l gi ) i 92 | ¥k
N 5K/ % BE: 36 % .
A A BhE T75/B R M. 4 % 184 | XK
B EEA R AR BO1 W HE 6




I, S - A

£ H2023011033-34 B/¥/17 8 /9 / 9
FEaiE THJ 5000kg / 1 - JXVF BREA RS 2650 X 3350 X 2500
- IaE IR T A Tl B B SRS 1528 FIIH AR P DUE : 2400 X 2400
AR 7T | AR % P E5 /M5 Zz K B/ B % IE
N 5K/ % Bk 18 % .
4 | A T FE S TK5A ORJZ $ih. 2 % 92 | %k
45 | A ESHUEBAR T127/B 18 |
A I T PUEER T75/B 36 |
16 | A HI S PUERAR TK5A 18 | 1
47 | A FFHUER T127/B 18K 126 | A | FHESCBEREYD
A HEhE R YUERY T75/B 8K 242 | H
fﬂ 48 | A A SR TK5A 5K 142 H
49 | A ESHUEN T127/B 18K 30 | R [ o7 A1 )2
50 | A RS 2% e bR B KJFL=850, FLFE 156x156 2 | # Bt LD-HC-L17
51 | A AT B TK5A % FLEE100, ® 13X 40 0| A U 130
52 | A L AUMER fitLD-HC-L17, FL¥E156x156 K EL=850 0| B s
53 | * SR B T127/B%h £€=0.5mm, 1.2mm 150 | fF JE
54 | % TR FR TKSA%L &= 0.5mm, 1.2mm 300 [ 1 JEHHF
55 | A JRYT S B JE AR 8 | A
56 | & X E 4 (5000KG) bR B 1630 X 4800 1| B BN
57 | ¥ W AR JEbRBE 208 X 360 2 | % 0
58 | ¥ EEEL JEbRbt 140X 180 4 | % 0
59 | ¢ Yot AR EIRaE 180 X 48 6 | fF |, A IR 2
60 | ¥ LBiR bR B 947 X 785 4 | A%
%[ 61 | ¥ FBiHR EIRaE 947 X 785 2 | fEAi %2k
® | 62| ¥ S E IS JEbRbt B L=460 8 | 0
63 | I v bRk E 200X 165 4 | 0
57 | A o} B AR 7 2R 0 | s A=kt
58 | A Xt B EIRaIE 400-10-10-15 2 A TR LA X B 4
60 | A PR bR B 785X 400 X 60 120 [ 1 | k135, 52kg/ 1
61 | A Xof I HEIHE BTK5A%L # i i. B=17 4 | A il Ll A
Ll 0 | A T ZIE LD-HC-L17 2 | A4
1| A X LA 5 LD-HC-L17 2 | A
72 | ¥ JRYTIEES =% H=1500 2 | e
fiEEbud BUEHEE : 1 n/s
5l A I 2 ASG607 WE . O8 mm s L
T ok 2 B R
St 74 | % R A S 2 JEbRbtE 1=435 9 | # BT127/B%
sy 75 | % FRALIT RS 48 JEbRbE L=375 6 | BCT127/B%
77 | * R iR DB10-7 300X 80 9 | % 2155
81 | A ARG 9%19S+NF-10 Ef%: ®10 1980| K 1982k X 10%%
82 | A [RIEZ N 2248 8%19s+PP-8 HiE: ©8 95 | ¥ 95K X 14
izj 83 | A Lk D8 6 | 4
% 84 | A iy D10 I 60K | 20 | B
85 | A Jesp Ay b L AR 0 0| & 4: 1EEI
86 | A R E FruEHERE R HREF! 1| B | mERK D
i #E: 5000kg  A#: 1m/s
=4 WM. 4:1  ThHEE:32. 4kw .
?IIL 87 | A [H)25 5,51 HL MONA450 PRSI, oy 1| & SRR
45 ©400-10-10-15
FiFiE A BEEERAE B0 5 . I 6



MoE kRO F &

WS H2023011033-34 B/¥/17 8 / 9 / 9
PR THJ 5000kg / 1 — JXVF B R 2650 X 3350 X 2500
BB 2 T A S oMl B S A SR L 1824 T AR B PO« 2400 X 2400
AR5 | ARl F4 i K5/ AE Z W Kt/ AL %
82 | ERIEY b b Tt 52 55 40 FMONA450 4L 1| MR
83 | Ho 5 v 4R B BRI 510X 410 1| A e e smesmn
84 | ¥ IR RAE Jebm b 1360X410 L[ fF | ez SSmim
85 | ¢ R 40 Sk A AN et A KB L=660 1| fF | ooufEaR, ZHIRME
86 | ¥ Xof 548 S AN Jepr b K. 1L=420 1| A | 2ontldm, RN
87 | ¥ HLAEE b 1| E Witk
88 | Kk | Bim/ X E LB EYLE JEbRbt B KBE: 1=410 4 | % | Q235 t4RInE
| 89 | H AT bR K. L=1520 1| A FEAR A
5190 | # 7KE R T K K. 1=5400 2 | % |40saTs, migTR
Bl o1 | v 7K 2 R g BB A K. 1=2200 2 | & | 28#abiN, WFL
92 | ¥ TTIEAR T Kl 500 X 600 0 | QTR
93 | R TH K. L=900 2 | 16#bfE4X
94 | % EIEST THE KJE: 1L=600 1| 18#b 4K
| ¥ # =N
% Uik TR I 188, BiFE: 180 2| & 5;@;’?%&?@;@
96 e bR B ®400-10-10-15 2 | A [5G mEeLesE
96 o} R AR bRk E ®400-10-10-15 1 [ A | SEPERERH
9% | A AR A A BRI 73000+ — A4k ES 37 kw
A UCMPAR MCTC-SCB~C IES
9% | A BEAT RS . Y i . 45,55 K ES B ]
97 | A e HL R R 2 4 | A
98 | A BB Fic . 2 L R HEL 1| E
N EEE A LN a8/ 9/9 ES
ﬁ;ﬁ 100 A | Euhshrpg GREPD TG (o — AN S
z 101 A AN TR & 71 A
% 102 A Th35 AN £ TR & 2 N
03] A SR IEA L
104 A JERYT R A HR B T 220V / 40W 2 | A
105 A aEE 2 | A
106 | A HL2% KL 2 | A
107 * il S q235, t4 2 | A HIEH
108 A FEL 255 ] 5 2% L= 1000 /% 10 | %
109 A 15 HLRBUE 2% B UPS WA IE 37 kw o | A 100A
110 A YRR L I OATIE 220V / 60W 1| A
111 A G LT AC220V 60WT ' 58 8 A
W A | BRUKS T 1| A
ii 113| A N CIPS 1LX29-7/3 0 | N
{”4: 14| A R 220VELKG: 80T 6 | A 3
116 | A FRAZIFR (1370) 6 | A
17| A F7iBIE 1| &
118| A MNEaKT 1| A
119 A R A [} HD/BRB 2 |
120 A & [ml B A 5 2 BVARFRERIH : 16 mm? 65 | K
121 A =B EL 3X0.75 mm? 20 | %
122 A 2. 5mn” % - 2% 25 | K
123 A 6mm2 2 43 Hh 2% 25 | %
124 A ] i F A 9 I i 2 46 | K
125| A [R5 80X60X1.2 5 | %
126 A LRAEEEAR 10 | 1
B[ 127] A SIRPE K, 30 8 | X By
w128 A EJRKE LXAIE, ©10 9 | % JEiE
#1129 A WAk ®30 mm 4 | A
1130 A OB ek ®©10 mm 18 | 4
131 A ERRE D13, B 6 | K JRYTELH
132 A IR Sk D13, 90° 10 | A
133 A Je Ly 200mm 200 | %
134 A JE I ek ®6 mm 277 | ki
135| A MR AR 3 | %
136 | A LRI ) 43 | A
137| A ZH (K SV5.5-6 20 |
138 A ZH (M) SV1.25-3.2 40 | A
FFEH BEEA R AR B30 HE 6



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



MoB R B

Lk

e~ A= H2023011033-34 B/¥/17] 8 / 9 / 9
PERES THJ 5000kg / 1 — JXVF BlA R 2650 X 3350 X 2500
BB RS T SR A B Tl B A ST 1524 FIIHFRERT MU - 2400 X 2400
AT £ PR K5 /Hs Z  # Kt/ AL %
139 R AR i 4575 B A L 1] 367 X 2714 1| M SREEECHIY
T 140 | ¥¢ PR TIAR (R P45 i A1 1A 500 X 2714 3| FEST AL
41| ¥ R TIR (XUED Wit 457 Jhe A LI 500 X 2714 2 | 1 FFREAL
142 ¢ JEHRITRR P 75 A L 367 X2714 1| LR RIS
w4304 gyl e 2 )
3| A L FEIIBRE2100 X 2100 (I8 (5, 117, 6Btk Rets%e| 2 | & | oS
i) B
144 A REEES 0 |
# | 145] ¥ BT R LIRS 2470 X800 2 |
1T [146] ¢ BRI 964k Hh Ik K. 1=2900 0 | I IHLAC
147 | PR Tebhbnifk L=490 8 | %
148 | ¢ FIHR rh 43 U 35 2400 X 2400 5 9% W38 1=625 H=2415 8 | M | I, EIIEY
149 ¥ B THIR R AEbr b KEE: 1=2900 2 | % FAi g —
150 | ¥ Bik NBEE Ot 917A61-AC220 2 | & R
sl A [ JFI 1522400 X 2400 | A = frf. 96{2&’@}( AR | e T{%ﬁﬁiiéf
4304
152 A i 0| A
153 A — B 0o |
154 A — PR 0 | it
155 | A H 4 rh 43 D4 5 2400 0| &
156 | ¥¢ 21T 1. SR BT (R4£90114) 625 H=2415 4 | M| BRI g
Z1R L. SmmAR T (R4£90114) 625 H=2415 32 | M| P Bk
IAY HE G 1. SR (R4£90114) Sl 1=2355 2 | 1
DAY A 1. SmmARAR 4 (R45£90114) sl L=2365 16 | 1
157 | RES L. SmmRAR BT (FL4£90114) B=50 1=2520 1| %
B IR 1. 5SmmRAR 15 48 (BR4-90114) B=50 L=2520 8 | %
7] 158] RESDRES 1. SR T (FR4£90114) B=50 H=2410 2 | &
RESDR S L. SmmRAR A (FL4£90114) B=50 H=2420 16 | # fedi
A K VIBATAE e AR L. SHEEEIR 65%48 0 | Ji A %Y
159| A By fi kL kL 0 | TR
161 A FEI181 0 0 | i
162 A E IR K 1=2900 0 | % BN
163 JZ TR SRS Ak K. 1=2900 9 | & P T BREE
164 | o JET3 R bRkt E 2500 X 400 9 |
165 ¥ JEEH R FR 6 | X LK%
166 | Y¢ JFES RSN 30N 20 | L ATK/ME
167 A WY R t0.5, t1.2 0 | # B
168 A FEBCR A 0.5, t1.2 o | 1 JE
169 | %* 1T HIR A B 1=500 63 | 4~
70| A SHE HLIED 10 | kg £Hffi5kg
171 A FATIK 0 | kg
172 A B L | kg
Soi 173 A 7)?@%& 6 | kg
s gt 174 A BRI 1| &
175| A RESEEN] ®8 mm, L=1000 9 | %
176 | A LEE] s 2 |
177 A . . N LK 4 2245 2 | %
5l a 4L HER IR IR PYTER 2 n
179 A FMERE Hi% 10 43 K 2 | %
180 A AMEEE S E EWRARIKE, 1=1930 1|
181 | A [¥MEHES R R E 2 =510 2 | SR
wMz| 182 A 1K O 84N 2248 4 | %
N 1
B0 LR e s = iy qj;ﬂi[f L2 e
185| A URLRS (M12, FLEES0) i3 s
186 A e QJ 1093 22 4z i ficgi s KR H AL £ | WEPUE: 1668
FFiEABEEERAH %4005 36




R

5 _#

EFRgRS H2023011033-34 B/¥/17 8 / 9 /9
RS THJ 5000kg / 1 — JXVF BRARS 2650 X 3350 X 2500
P2 - FIARER FUUE . 2400X 2400
Fidaa ey R A K5 /RS Z K H/ Sfr % I
1 | F RS A 2 M20 X 60 B Pk, g, Rk, dght [ 48 | B 8.8 S
2 |FSHRS % 1B M16 X 40 Bo-Pas . Jrftds . sk, MBRE 0 | % C2ERD 8
2 |EISHR 5% E, T3 1K M16 X 40 EooPHA . TR, SRE R 0 | B C2ERD 8
3 |55 R, wAad JEH M16 X 70 AP, Bk, 2R} 50 | &
4 |REP5RE 12k M8 X 40 BooP, gk, g 30 | B
5 | $N4utE P2 M12 X 40 AP, Bk, 2R} 30 | B
6 TR 24 M12X45 FOFEs . 3Rk, IRE 4 | B
U 12K M8 X 45 AP, AR, gk R 50 | &
7B A R LR ST B 2R M12X 45 BT, gk, g 2 | B
8 | IHLEE S A 5 R S A P2 M16 X 60 AP, Bk, 2R 20 | B
9 |ITHLEE 4 5 T S 40 I2EE M12 X 45 BOoPR, SR IR} 0o |
o 10 [IIHLR 4 5 A PEH M12 X 45 AP, Bk, 2R} 0o | &
21 [TIHLS T IR 2 12K M12 X 45 BOoPA, G, R} 0 | &
12 IR S IR e 40 I2H M12X45 FioP, ghil, et 0| &
13 |55 F FRE., PgE 0k B2 M16 X 60 B Pk, o, Rk, Wght [ 82 | B 8.8 S
14 | PR E RS BEEE M16X 45 BOoPH . R, gpEk, IBRE) 50 | B
15 | PR 4 B M16 X 60 EOPHA . iR, sRE R 0 | B
16 |SAESRATE . FiAT e JEH M20 X 45 AP, AR, gk R 0 | B
17| FiAE S R AT B2 EEM20 Bro X Pk, s 3xuEft [ o | & ERE 4
18 |WiAF 5HATHE P2 M20 X 90 AP, Bk, 2R} 8 | &
19 |JEAER 1K M20 X 50 BooPa . iRl sRE R 14 | B
20 AL 5 Hh IR AN JEH M16 X 40 AP, RN, gpdh R 16 | £
21 | BRI T Hb IR L e IR RN WZEE M12X 40 fo P, REA, s R 0 | B | e, WU R
22 |B5HERA. TIPS WEFE M12X 45 Bo-PaR, sk, WER) 2 | &
23 | BEMR S R 12k M8 X35 fogth, Pk, sk, 28 | 60 | B
p 24 |BEMREYE (BEARIEZZ) P2 M6 X 20 AP, Bk, 2R} 188 | & | BEMRIEZZ Gl
e |25 [HTEERR SR 12k M8 X 20 BT, gk, img 6 | B
| 26 |BEUS TR HEEE M8 X 30 FooTds, gk ey 50 | &
IR % B 12 M8 X 30 BUoPR, SR, MR} 104 | &
97 LR E OKPB) 127450 IR RIKIEA M16X120] ARG #ik, B | 184 | % T
FEMLE e OKIBE) 7551 LIEEEREACIEA MI2X120] fREAHRE ., Jiih, i8R | 436 | 57 ToEE
98 oS (RERD ZEHEIZ RS M16X 280 SR TR, ER | 0 | X
LAY e (k) FREEM M12 X 280 SR, PRI, R | 0 | X
99 TAERE (58 BEEE M16X 55 AP, Bk, 2R} 130 &
T YORERE (63180 B2k M12X 45 BOoPA, G, R} 190 | &
Lol! 30 EFUERD JEH M16 X 45 AP, Bk, 2R} 126 | &
A Eh R D B2HE M12 X 45 BOoPA, S, R} 242 | & 8K
31 |RIELERY B2 M12 X 45 AP, Bk, 2R 120 & TK5A
39 EPEFR H2HE M16 X 45 L e S 176 | &
AT BER BEEE M12X 45 HOoPR, gk WER) 3b2| &
33 |EIBIERAR B M10 X 30 BOoPA, G, R} 176 | &
34 | X R AR E B2 M10 X 40 AP, sk, 2R 4 | B Bic 25 OV LR AT
o 35 WA 5% G B2 M10 X 30 BroPR, SR, MR} 6 | &
36 |0 5 AR H2EE M8 X 25 AP, sk, 2R} 8 | &
37 D E RSP A B2 M10 X 25 BOoPA, G R} 30 | &
JEST| 38 |ZErhaR GRS EAERER IIKIZM MI12X 120 BO-PR, sk, WER) 12 | & WIE 5
R [ 39 | BRI H 55 R A 12 M8 X 25 BroPA, SR, MR} 4 | E
L3 | 40 [ BR g 2% s [ JEIKIEAS M10 X 80 AT HE . B BR 0 | &% WIm A 5
41 | B PR e 20 EAR R S e 1K M10 X 25 BOoPA, G MR} 12 | E
e |42 PR S S UGS 12 M16X55 Bo~P o | sEk . dEAE 12| & T13K
T4 [FEmIAR S S e B2 M6 X 20 IR, ek, e | 18 | &
44 |FRREAR LIRS SHUERY JEH M16 X 55 AP, Bk, 2R} 18 | & T13K
% 45 |ENLSE EHL M24 X 140 SR . s . pHs . g 4 | B 8.8 %%
” 46 | EHLE SN2 dapi B 2K M8 X 25 AP, Bk, 2R} 4 | &=
il 47 | B EIHLH AR FASEER KIS M12X 100|  ALHE T, gk, d8iE | 12 | % HIm A 5
48 | FEHELY S i JEFEM20 X 80 AR CPHRGRE SRR 4 | E 8.8 %
49 | AR A IS M10 X 80 I, P, WE R 4 | % B 4%
50 |Fii F A e JKYBET 4X40 203 | 3%
- 51 |[JeEIF R E B2HE M6 X 30 AIE A L gk, BB Rt 8 | &
ggﬁ 52 WIS AE AR I E I2H: M8 X 25 R, s, B | 4 | B
53 Ry iEsERE e MK EZAE M8 X 80 AFETHE . BB 2R 1 | X TE A 5%
54 |2z A E JHK 2K M8 X 80 I ., gk, B8R 4 | % B 4%
55 |FEAE4E I ZEEREEIZICIEA M12X100| AIETHRE . #ik, 18R 8 | &

7Tl A AR AT



Skyfree
Skyfree:
114轨用M16X55

Skyfree
Skyfree:
114轨用M16X55


R S - S

L

A pegm e H2023011033-34 B/5/1] 8 / 9 / 9
E ) THJ 5000kg / 1 - JXVF FRART 2650 X 3350 X 2500
L IREL - FIAERERF UG - 2400 %2400
W e g A s /R Zz  H K/ s %
56 | Bl HL AR ] 2 K IEAE M8 X 80 A THE . . 18R 4 | % WA 5
57 | MRl e JKIBAT 4X40 197 | %
60 | EZRUKSTF IR & 5] Sk M5 X 40 AL HGEE L BB R £
Hage| 61 [k T K Sk U2 AE M5 40 AFE T . Bk, WER £
FofF| 62 |45m 2R B T JEZHK B2 M8 X 80 A5 T . k., WER 53 WEH 4
63 | Wl dtlilhl e Ak 84 M6 X 50 AIETHE . #Es, B | 25 | ¢ s s
64 |WL5LAlEd: IZHE M6 X 25 40 | B
65 |ZRHl ol e H 222 M4 X 10 60 | X2
66 | B 1 IR LAl B2k M10 X 25 P, 0| &
67 | IS S51TIRZH BEEE M10X 30 Bo P, B R 4 | &
68 B AR 5 H R AT 4R PUKIEKE M5X 20 A5 L 109 | & 521k
LA BRI RS 2 12K M8 X 25 Bi-PH . gk, B 10 [ &
HhIK 223 B2k M10X 25 fi-PH . g, it 80 | &
69 |1 THES5ITRTZHE BEEE M10X 25 [ s 0| &
70 [FHIRCCRE S B 12K M8 X 25 it SFa . gk, BER) 10 [ &
71| ERSE F K IE R M8 X 100 AT, B B | 54 | B
72 | B idS RT3k B2k M10X 30 AT HE . R, R 0| &
73 |21 S IR 12K M10 X 30 AFET M, 0| &
74 (s 12k M8 X 35 R 0| &
1T BEEE M8 X 30 BOoTH, i IR 42 | B
JEIT| 75 | E H g5k B2H M8 X 25 AFET R, R 0o | &
76 |HuIRFEREE R Z T R B e d EBEERIZAKIZEAMI2 X 120 | EFEFHRE . R, BE [ 189 & T4
7T IR 2% B2k M10X 30 ARG FHE . R, R 0| & AFEER]
e BB M5.5X19 40 | &
78 |FFIEIIR R S X 100 2| =
79 | B R A R 2 2 5 SR 22 M6 X 25 AR B 22 | B
- ey B2k M6 X 16 (R N 0| & X
80 [ITHTH 1M 2% prpmSTHTTNI R BRI
82 |11k e 4 TABRE R IGR B FEMI2 X 100 | A4EFHE . spdh, 2R} 0| &
83 |XfE FRGX E 2 12K M16 X 60 FOSPE . TR, gpEk, WEERE 0 | B
84 fih S A MIOX 80 Fif T #gF} 0| &
R EHER IR B2EE M6 X 35 A THE . s, B | 95 | E
[577 ot B 22 & M6*127% % T 0o 4
BB AL AR 14 M5 X 50 IR, s, B | 40 A

V338 F s A R A R




